Missing Numbers in Equations (A)

¢+9=11

H+2=6

O+5=6

8+A=11

5+@®@=11

X+5=7

44+ =9

1+ =2

1+x%=2

a+5=12

What value does each shape represent?

% +9=18

7+V=16

A+2=5

Oo+5=9

4+m=6

h4+5=7

V+8=11

O+1=6

+3=10

O0+3=8

O+2=9

O+2=5

Oo+7=11

4+n=7

H+1=6

94+ m =13

o+3=4

h+9=16

H+3=7

@®@+1=5

O+4=8

4+X=11

4+ ~=8

7+o=11

X+5=8

2446 =7

5+m=10

*x+2=10

7+ ¢=16

A+6=9
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Missing Numbers in Equations (A) Answers

¢+9=11
=2
H+2=6
H=4
O+5=6
O =
8+A=11
A=
5+@=11
®=6
X+5=7
X =
4+[=9
=5
14+<$=2
S =
1+x%=2
X =
Aa+5=12
o\ =

% +9=18
% =9
74+V=16
V=9
A+2=5
A=3
O+5=9
o=4
4+m=6
0 =
h+5=7
H =
V+8=11
V=3
Oo+1=6
O=5
+3=10
a=7
O+3=8
O=5

o+3=4
o=1

h+9=16
=7

H+3=7
H=4

@+1=5
®=4

What value does each shape represent?

O+4=8
=4

4 +X=11
X=7

4+ ~=8
=4
7+oa=11
=4
X+5=8
X=3
24+$=7
¢=5
5+m=10
0 =
x+2=10
% =8

7+ &=16
=9
A+6=9
A=3
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Missing Numbers in Equations (B)

o+3=10

X+ 4=12

0+3=7

®+4=11

6+4=7

N+9=18

9+ 6=16

3+®=10

4+0=9

3+ ®=7

What value does each shape represent?

6+¢=38

3+40=9

2+@=9

N+2=9

4+0=8

5+0=8

H+4=6

1+X=6

3+o0=4

5+ ¢=13

®@+2=6

5+ =10

A+2=6

O+8=12

8+H=14

¢+9=11

2+0=4

H+9=10

h+3=8

H+1=6

5+X=6

3+©O=10

1+®=9

1+0=5

¢+2=9

9+ =18

N+2=10

9+V=17

¢+7=13

9+ 01=16
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Missing Numbers in Equations (B)

6+4=7

N+9=18

O=9

9+ 6=16
¢=7

What value does each shape represent?

6+0=8
0=2
3+O0=9
O0=6
24+H=9
H=7
A+2=9
N =
44+ 0=28
0=4
5+40=8
=3
h+4=6
H =
1+X=6
X=5
3+0=4
o=1
5+ ¢=13
¢=38

®@+2=6
®=4
5+ =10
=5
A+2=6
A=4
O+8=12
O=4

8+ =14
=6
¢+9=11
¢=2
2+0=4
O=2
H+9=10
H=1
h+3=8
=5
H+1=6
H=5

5+X=6
X=1

3+©O=10
O=7

1+®=9
® =38

1+0=5
N =4

Math-Drills.com




Missing Numbers in Equations (C)

9+0=14

3+®=10

4+ @ =13

5+H=38

3+0 =4

8+ ®=9

x+3=11

9+V=15

3+@=9

V+8=11

*x+7=11

4+MH=9

2+ ®=10

9+40=18

o+6=7

3+%=7

+9=16

1+H=38

7+X=12

H+8=17

4+ ¢=12

m+3=11

2+0=7

H+3=5

3+O0=12

®+4=6

O+4=9

0+4=6

O+2=8

1+A=6

What value does each shape represent?

4+H=7

5+h=7

8+0O=11

4+A=12

8+0 =17

O+9=13

54+ ® =14

m+2=8

® +5=10

8+H=9
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Missing Numbers in Equations (C)

9+40=14
O=5
34+ ® =10
® =7
44+ ® =13
® =9
5+H=8
H =
3+ =4
O =
8+ ®»=9
® =
x+3=11
% =8
94+V=15
V=6
3+®=9
®@=6
V+8=11
V=3

x+7=11
% =4
4+H=9
H=5
2+ ® =10
® =8
9+40=18
o=9
o+6=7
O =
3+%x=7
% =4
+9=16
¥ =
1+H=8
H=7
7+X=12
X=5
H+8=17
H=9

4+ 6=12
¢=8
m+3=11
m=28
2+0G =
O=5
H+3=5
HH=2
3+O0=12
0O0=9
®+4=6
® =
O+4=9
O=5
0+4=6
O =
O+2=8
O==6
1+A=6
A=5

What value does each shape represent?

4+H=7
H=3
5+h=7
=2
8+ (O =11
©=3
4+A=12
A=38
8+0 =17
N=9
O+9=13
Oo=4
5+ ® =14
® =9
m+2=28
.:

® +5=10
® =
8+H=9
A =
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Missing Numbers in Equations (D)

4+0=10

3+MH=09

O+6=14

7+0=15

9+ =18

H+4=10

X+1=3

5+a=7

X+5=8

7+A=10

®+3=7

¢+6=15

¢+1=8

O+7=15

O+2=9

1+vV=8

o+8=17

0+2=9

V+5=9

X+3=11

h+7=15

® +5=13

+5=10

0+7=12

9+ % =12

a+3=5

5+@®@=11

m+4=8

¥+ 8=11

5+@®=12

What value does each shape represent?

m+38=11

5+ =12

O+7=13

2+ % =4

3+O0=7

[+6=10

O0+9=17

0+1=3

3+H=11

X+5=10
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Missing Numbers in Equations (D)

44+0=10
O=6
3+Mf=09
=6
O+6=14
©=8
+o=15
O=28
O+6=18
=9
h+4=10
=6
X+1=3
X =2
5+a=7
=2
X+5=8
X=3
7+A=10
A=

h+7=15
=8

® +5=13
® =8
a+5=10
=5
0+7=12
0=5

94+ %x=12
X =
a+3=5
& =
5+@=11
®@=6
m+4=8
m=4
x+8=11
% = 3
5+@=12
®@=7

What value does each shape represent?
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Missing Numbers in Equations (E)

2+4=38

6+a=11

4+ ¢=13

9+4=10

24+[=4

5+V=14

O+8=16

8+ae=12

1+0=5

O+3=5

2+¢=11

6+©=10

A+2=7

4+0=9

1+0=2

6+a=10

1+ m=7

4+0=7

1+ ®=3

6+0O=12

6+ % =13

1+[]=9

5+0 =11

8+ x%=12

O+2=9

5+4=7

&+8=15

8+ =15

AN+2=5

x4+ 6=15

What value does each shape represent?

O+1=9

5+0=6

O+ 8=15

A+2=4

N+2=3

2+H=7

54 ¢ =13

x+6=9

o+1=7

X+8=11
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Missing Numbers in Equations (E)

2+4=8
=06
6+4=11
=5
4+ 6=13
¢=9
94+4=10
& =
2+[]=4
=2
54+4V=14
V=9
O+8=16
O=8
8+e=12
=4
1+0=5
o=4
O+3=5
O=2

2+4=11
¢=9
6+® =10
O=4
A+2=7
A=5
4+0=9
Oo=5
1+0=2
0 =
6+oa=10
ao=4
1+ m=7
0 =
4+0=7
=
1+@®@=3
® =
6+O=12
O=6

6+ % =13
X =
1+[=9
IEE
5+0=11
N=6
8+ x =12
% =4
O+2=9
O="7
5+4=7
& =
$+8=15
=7
8+MH=15
=7
O+2=5
N=3
%+ 6 =15
% =9

What value does each shape represent?

O+1=9
Oo=8

5+0=6
0=1
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Missing Numbers in Equations (F)

&+6=13

[]+9=15

2+m=5

1+0O=7

A+8=15

1+0¢=5

3+4=06

0+5=7

8+ =11

S+4=8

44+ =12

A+6=11

5+® =10

V+4=10

O+3=9

m+6=15

a+6=15

A+9=11

5+0=6

8+ ¢=13

®+7=11

N+1=8

H+5=11

5+a=12

O+3=12

O+7=14

9+0=11

6+V=14

7+ 6=10

2+0=11

What value does each shape represent?

7+ ¢ =10

6+0=15

1+®=7

9+ =11

O+3=9

H+9=11

3+aa=4

[h+9=18

3+H=12

0+3=12

Math-Drills.com




Missing Numbers in Equations (F)

2+m=5

1+0O=7

44+ =12
©=8
A+6=11
A=5
54+ ® =10
® =5
V+4=10
V=6
Oo+3=9
O==6
m+6=15
0 =
a+6=15
=9
A+9=11
A=2
5+0=6
N=1

8+ 0=13
0=5

®+7=11
® =4
N+1=8
N=7
H+5=11
H==6
5+a=12
=7
O+3=12
o=9
oO+7=14
o=17
94+40=11
V=2
6+V=14
V=8

7+ =10
¢ =
24+0=11
=9

What value does each shape represent?

7+<¢=10
{}:
6+0=15
O=9
1+@=7
@®=6
9+ [ =11
=2
0+3=9
0O=6
H+9=11
EE]:
3+aa=4
n=1
h+9=18
h=09
3+H=12
H=9
0+3=12
0=9
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Missing Numbers in Equations (G)

7+V=12

O+3=11

o+1=7

&+5=8

X+6=10

O+5=7

2+¢=3

%+ 7=16

O+5=11

6+V=11

S+ 4=12

1+0=9

m+2=10

V+5=7

8+m=9

x+6=11

®+7=16

X+5=6

¢+6=13

®+2=8

O+2=4

H+7=15

3+o=11

a+1=7

O+7=9

% +9=12

8+0=12

7+ 0=15

1+0=4

9+[ =13

What value does each shape represent?

An+6=9

5+H=8

O+1=2

A+8=11

l+4=6

O+6=7

7+0=16

44+ m=6

5+A=8

3+A=11
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Missing Numbers in Equations (G)

What value does each shape represent?

S+4=12 N+2=4 an+6=9
1+40=9 H+7=15 5+H=8
=8 H=8 H=3
m+2=10 3+o0=11 O+1=2
m=2_8 O0=28 o=
V+5=7 o4+1= A+8=11
8+m=9 O+7=9 ]+4=6
m= 0=2 =2
x4+ 6=11 % +9=12 O+6=7
®+7=16 8+0=12 7+0=16
® =9 0=4 =9
X+5=6 74+ 0=15 44+ m=6
X = O=8 m=
¢+6=13 1+0=4 5+A=8
¢ = =3 A=3
®+2=8 9+ (=13 3+A=11
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Missing Numbers in Equations (H)

h+6=9

m+3=5

O+7=10

+7=9

7+0=12

1+0=4

H+3=8

1+4=5

3+ @ =4

O+9=12

9+X=18

2+0=9

O+5=13

3+0=5

A+5=6

1+0=6

O+4=11

O+1=8

V+6=12

®+6=8

® +8=10

0+1=2

8+ =10

O+4+6=15

$>+9=12

V+6=9

8+ ® =16

¢+5=8

1+0=9

Oo+3=4

What value does each shape represent?

1+4=5

X+2=8

V+1=4

9+ 0=15

4+@=7

O+7=14

1+$=7

7+0=16

O+7=12

3+0=6
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Missing Numbers in Equations (H)

What value does each shape represent?

h+6=9 9+xX=18 ® +8=10 1+4=5
=3 X=9 ® =2 a=14
m+3=5 2+0=9 0+1=2 X+2=8
m=2 o=7 0=1 X=6
N+7=10 O+5=13 8+ =10 V+1=4
N = O0=38 =2 V=3
1+7=9 3+4O0=5 O+6=15 94+9=15
=2 0=2 0=9 V=6
74+0=12 A+5=6 &+9=12 4+ @=7
O=5 A=1 H=3 @ =
1+490=4 1+40=6 V+6=9 O+7=14
=3 0=5 V=3 o=7
FH+3=8 o+4=11 8+ ® =16 1+¢=7
[ = o=17 ® =8 &=6
1+a4=5 O+1=38 ¢+5=38 7+0=16
=4 O=7 ¢=3 O0=9
3+@=14 V+6=12 1+490=9 V+7=12
® = V=56 V=28 V=5
O+9=12 ®+6=8 O+3=4 3+0=6
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Missing Numbers in Equations (I)

4+0=12

5+A=8

h+9=10

3+H=6

O+4=6

m+5=14

5+4O0=10

O+7=12

6+a4=11

V+7=9

4+ =5

% +9=18

3+@=11

a+8=15

¢+7=10

H+5=10

3+® =6

O+2=11

®+4=6

X+9=12

O+3=11

A +5 =14

8+A=17

6+0=28

O+7=11

X+6=38

a+5=12

6+A=9

8+0=9

O+2=10

What value does each shape represent?

X+8=10

1+0=9

7+[]=8

3+4O0=9

5+4O0=9

O+2=9

S+1=7

6+4=10

44+0=5

O+3=10
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Missing Numbers in Equations (I)

5+A=8

h+9=10
%:

3+Hh=6
=3

O+4=6

What value does each shape represent?

4+H=5 O+3=11 X+8=10
=1 O=8 X =2

% +9=18 H+5=14 1490=9
% =09 H=9 V=28
3+@=11 8+A=17 7+ =8
® =8 A=9 (=1
~+8=15 6+0=28 3+4O0=9
¢+7=10 O+7=11 5+0=9
¢ = V=4 O =4
H+5=10 X+6=8 O+2=9
3+®=6 ~A+5=12 S+1=7
® = A=7 &=6
V+2=11 6+A=9 6+ =10
V=9 A=3 =4
®+4=6 8+0=9 44+0=5
® = o=1 0=
X+9=12 O+2=10 O+3=10

Math-Drills.com




Missing Numbers in Equations (])

¢+6=14

®+2=6

2+®=3

7+0=28

0O+4=10

5+4=6

O+8=14

®+2=9

m+38=16

2+0O=5

2+X=11

6+0=7

7+ 6=28

6+90=13

O+5=10

9+V=17

5+ =13

2+4=9

6+H=7

9+ =12

2+0=3

3+X=6

X+9=10

O+1=2

O+ 6=10

A+6=12

3+H=11

a+7=12

A+8=14

5+h=09

What value does each shape represent?

[+8=12

H+4=13

3+X=10

H+7=10

7+V=15

4+ %=13

$+5=6

¢+1=5

0+8=11

h+9=16
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Missing Numbers in Equations (])

¢+6=14
¢=38
®+2=6
® =4
2+ @ =
® =
7+0=8
o=1
O+4=10
V=6

5+ 6=6
¢=1
oO+8=14
O=6
®+2=9
® =7
m+8=16
m=28
2+ =5
O =

6+H=17
=1

9+Hh=12
=3

2+ =3
O=1

3+X=6
X=3

X+9=10
X =

A+8=14
A=6

5+f=09
=4

What value does each shape represent?

[+8=12
=4

0+8=11

h+9=16
%:
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